

$$\sum_{n=1}^{\infty} \frac{(-1)^n (x+2)^n}{n+\sqrt{n}} = a_n, \quad x_0 = -2$$

$$\lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right| = \lim_{n \rightarrow \infty} \left| \frac{\frac{(-1)^{n+1}}{n+1+\sqrt{n+1}}}{\frac{(-1)^n}{n+\sqrt{n}}} \right| =$$

$$= \lim_{n \rightarrow \infty} \frac{n+\sqrt{n}}{n+1+\sqrt{n+1}} = \underline{\underline{1}} = \frac{1}{R} = R=1$$

$$x_0 = -2, \quad p = 1 \Rightarrow (-3, -1)$$

$$\begin{aligned} \underline{\underline{X = -3}} \quad \sum_{n=1}^{\infty} \frac{(-1)^n \cdot (-3+2)^n}{n+\sqrt{n}} &= \sum_{n=1}^{\infty} \frac{(-1)^n \cdot (-1)^n}{n+\sqrt{n}} = \sum_{n=1}^{\infty} \frac{1}{n+\sqrt{n}} \Rightarrow \\ &\Rightarrow \sum_{n=1}^{\infty} \frac{1}{n+n} = \sum_{n=1}^{\infty} \frac{1}{2n} = \frac{1}{2} \cdot \sum_{n=1}^{\infty} \frac{1}{n} = \underline{\underline{\infty}} \end{aligned}$$

$$\begin{aligned} \underline{\underline{X = -1}} \quad \sum_{n=1}^{\infty} \frac{(-1)^n \cdot (-1+2)^n}{n+\sqrt{n}} &= \sum_{n=1}^{\infty} \frac{(-1)^n \cdot 1}{n+\sqrt{n}} \quad \text{ALT. } \bar{n}. \\ &\& \frac{1}{n+\sqrt{n}} \rightarrow 0 \\ &\Rightarrow \text{LEIB. KR. TO } \underline{\underline{\text{KOAV.}}} \end{aligned}$$

КОМ. ПР₀ $x \in (-3, -1]$

ABS. К. ПР₀ $x \in (-3, 1)$

$$\sum_{n=1}^{\infty} \frac{2^n}{n^2} \cdot x^n, \quad x_0 = 0, \quad a_n = \frac{2^n}{n^2}$$

$$\lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right| = \lim_{n \rightarrow \infty} \left(\frac{2^{n+1}}{(n+1)^2} \cdot \frac{n^2}{2^n} \right) = \lim_{n \rightarrow \infty} \frac{2 \cdot n^2}{n^2 + 2n + 1} = 2$$

$$\Rightarrow R = \frac{1}{2}$$

$$? \left(-\frac{1}{2}, \frac{1}{2}\right) ?$$

$$\underline{\underline{x = -\frac{1}{2}}} \Rightarrow \sum_{n=1}^{\infty} \frac{2^n}{n^2} \cdot \left(-\frac{1}{2}\right)^n = \sum_{n=1}^{\infty} \frac{(-1)^n}{n^2} \quad \underline{\underline{\text{ABS. KOLL.}}}$$

$$\underline{\underline{x = \frac{1}{2}}} \Rightarrow \sum_{n=1}^{\infty} \frac{2^n}{n^2} \cdot \left(\frac{1}{2}\right)^n = \sum_{n=1}^{\infty} \frac{1}{n^2} \quad \underline{\underline{\text{ABS. KOLL.}}}$$

$$\text{ABS. KOLL.} \quad \underline{\underline{x \in \left[-\frac{1}{2}, \frac{1}{2}\right]}}$$

$$\sum_{n=1}^{\infty} \alpha^{n^2} \cdot x^n, \quad 0 < \alpha < 1, \quad x_0 = 0, \quad a_n = \alpha^{n^2}$$

$$\lim_{n \rightarrow \infty} \sqrt[n]{|a_n|} = \lim_{n \rightarrow \infty} \sqrt[n]{\alpha^{n^2}} = \lim_{n \rightarrow \infty} \alpha^{\frac{n^2}{n}} =$$

$$= \lim_{n \rightarrow \infty} \alpha^n = 0 \Rightarrow R = \infty \Rightarrow$$

konv. $x \in \mathbb{R}$

$$\sum_{n=3}^{\infty} \frac{x^n}{n \cdot 5^n}, \quad x_0 = 0, \quad \frac{1}{R} = \lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right| = \lim_{n \rightarrow \infty} \frac{n \cdot 5^n}{(n+1) \cdot 5^{n+1}} = \frac{1}{5}$$

$$a_n = \frac{1}{n \cdot 5^n}$$

$$\Rightarrow R = 5 \quad (-5, 5)$$

$$\underline{x = -5} \quad \sum_{n=3}^{\infty} \frac{(-5)^n}{n \cdot 5^n} = \sum_{n=3}^{\infty} \frac{(-1)^n}{n} \Rightarrow \textcircled{K}$$

$$\underline{x = 5} \quad \sum_{n=3}^{\infty} \frac{5^n}{n \cdot 5^n} = \sum_{n=3}^{\infty} \frac{1}{n} \Rightarrow \textcircled{D}$$

$[-5, 5)$

$$\left(\sum_{n=3}^{\infty} \frac{x^n}{n \cdot 5^n} \right) = \sum_{n=3}^{\infty} \frac{\cancel{n} \cdot x^{n-1}}{\cancel{n} \cdot 5^n} = \frac{1}{5} \cdot \sum_{n=3}^{\infty} \left(\frac{x}{5} \right)^{n-1} = \left| q = \frac{x}{5} \right| =$$

$$= \frac{1}{5} \cdot \frac{\left(\frac{x}{5} \right)^2}{1 - \frac{x}{5}} = \frac{\cancel{1}}{\cancel{5}} \cdot \frac{\frac{x^2}{25}}{\frac{5-x}{\cancel{5}}} = \frac{x^2}{25 \cdot (5-x)}$$

$$\sum_{n=3}^{\infty} \frac{x^n}{n \cdot 5^n} = \frac{1}{25} \cdot \int \frac{x^2}{5-x} dx = \frac{1}{25} \cdot \int -x-5 + \frac{25}{5-x} dx =$$

$$= \frac{1}{25} \cdot \left(-\frac{x^2}{2} - 5x - 25 \cdot \ln|5-x| \right) + \underline{C}$$

$$x=0 \Rightarrow 0 = \frac{1}{25} \cdot (-0-0-25 \cdot \ln 5) + C$$

$$\sum_{n=3}^{\infty} \frac{0^n}{n \cdot 5^n}$$

$$0 = -\ln 5 + C \Rightarrow C = \ln 5$$

$$\sum_{n=3}^{\infty} \frac{x^n}{n \cdot 5^n} = -\frac{x^2}{50} - \frac{x}{5} - \ln|5-x| + \ln 5 = \dots$$

$$x \in [-5, 5)$$

$$\begin{aligned} \textcircled{x = -5} &\Rightarrow \sum_{n=3}^{\infty} \frac{(-5)^n}{n \cdot 5^n} = \sum_{n=3}^{\infty} \frac{(-1)^n}{n} = -\frac{25}{50} + \frac{5}{5} - \ln 10 + \ln 5 = \\ &= -\frac{1}{2} + 1 + \ln \frac{5}{10} = \frac{1}{2} + \ln \frac{1}{2} \\ &= \underline{\underline{\frac{1}{2} - \ln 2}} \end{aligned}$$

$$\sum_{n=1}^{\infty} \frac{(-1)^n}{n} = \frac{1}{2} - \ln 2 + (-1) + \frac{1}{2} = \textcircled{-\ln 2}$$

$$\sum_{n=1}^{\infty} \frac{(n-1) \cdot (e-1)^n}{n \cdot e^n + e^n} = \sum_{n=1}^{\infty} \frac{n-1}{n+1} \cdot \left(\frac{e-1}{e}\right)^n \Rightarrow$$

$$\sum_{n=1}^{\infty} \frac{n-1}{n+1} \cdot x^n$$

$$\lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right| = \lim_{n \rightarrow \infty} \left(\frac{n}{n+2} \cdot \frac{n+1}{n-1} \right) = 1 = \frac{1}{R}$$

$$\Rightarrow R=1 \Rightarrow x \in (-1, 1) \Rightarrow \frac{e-1}{e} \checkmark$$

$$x_0 = 0, a_n = \frac{n-1}{n+1}$$

$$x = \frac{e-1}{e}$$

$$\sum_{n=0}^{\infty} x^n = \frac{1}{1-x} \quad / \int dx$$

$$\sum_{n=0}^{\infty} \frac{x^{n+1}}{n+1} = - \int \frac{-1}{1-x} dx = - \ln |1-x| + C$$

$$x=0 \Rightarrow 0 = -\ln |1| + C \Rightarrow \boxed{C=0}$$

$$\sum_{n=0}^{\infty} \frac{x^{n+1}}{n+1} = -\ln |1-x| \quad / \frac{1}{x^2}$$

$$\sum_{n=0}^{\infty} \frac{x^{n-1}}{n+1} = \frac{-\ln(1-x)}{x^2} \Big/ \frac{d}{dx}$$

$$\sum_{n=0}^{\infty} \frac{1}{n+1} \cdot (n-1) \cdot x^{n-2} = \frac{1}{x^2(1-x)} + \frac{2 \cdot \ln(1-x)}{x^3} \Big/ \cdot x^2$$

$$\sum_{n=0}^{\infty} \frac{n-1}{n+1} \cdot x^n = \frac{1}{1-x} + \frac{2 \cdot \ln(1-x)}{x}$$

$$\sum_{n=1}^{\infty} \frac{n-1}{n+1} x^n = \frac{1}{1-x} + \frac{2 \cdot \ln(1-x)}{x} - (-1)$$

$$\sum_{n=1}^{\infty} \frac{n-1}{n+1} \cdot \left(\frac{e-1}{e}\right)^n = \dots = \underline{\underline{e - \frac{2e}{e-1} + 1}}$$

$$(x - \pi) \cdot (x + \pi) \cdot (x - 2\pi) \cdot (x + 2\pi) \cdot \dots$$

$$ax^2 + bx + c = a \cdot (x - x_1) \cdot (x - x_2)$$